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CHILD DEVELOPMENT AND PEDAGOGY / a1t gy 9 Ramemay
Direction : Answer the following questions (Q Nos1 fo 30) by 5‘{@13 the correct/most appropriate options,
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1.  Learners feel engaged and actively involved in proces§®fleap: B W 37
(1) their prior knowledge is discarded and negated, —-— A :

wAZ)  activities are related o their context. ‘BN .

(3) focus of learning is repetition and memorization,” 1"‘: CTET 7 Jul}r 2024
(4) socio-emotional needs of learners are ignored, Lﬁ Question Paper-I (PRT)
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Vhich of the following statement best descy
: y St describes the role of the teacher in progressive .
1) The teacher leaves the children on their guwry to work in dEpEndenuf f} ssive education ?
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7} The teacher is the prima :

_ﬁ;’ The teacher meapas a :a}’c;;::, ot knowledge.

4) The 'leEChET lmplemenh.s the prescribed curriculum Eﬁt 6’
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Which of the following is correct in context of gifted children ?

./(ﬁ Gifted students learn at comparatively advanced pace than other students.
(2) Gifted children are free from risk of learning disability-
(3) Gifted children certainly excel in all areas academic, social and emotional,
(4) Gifted students arce always happy. popular and well adjusted.
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As per Jean Piaget, pre-operational stage is clmr:.-:terirﬁahillties to perform :
44 Symbolic play and animism (2) Cla tion and seriation

@) Conservation and abstract thinking (4 Imitdtion and reversibility
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7. What is the primary purpose of asking critical thinking questions ?
(1) To encourage students 1© memorize information. {‘D

@ To enable students t© develop procedural knmw.fle%
3] To assess students’ knowledge and understanding S8R

o Jovel thinking and problem-solyiggskils
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chan ge
(3) Qualitative chang®

ange in affective domain

. o ] R 7
e s 4 7%
T i T © ) T e £
(1) v e @) v s g
9 qﬁaii E . '
(3) E. T children regulate ﬂ‘flr OWn behavigyr 'rhmugh the ;.
10, ﬂmmamg:?self-reiﬂﬂl“im L (2)  PiSesses of adaptation
E} lijss: of inner speech ., ragess of equilibration
e & S, TR T A F R g

() S 5 vy ER

. Ve

11 Which of the following statement aboyt develtpy entlis correct )
vﬁﬁh Different aspects of development are ind endent to each other,
\iiF Development

15 a discontinuous procesd 7
(3) Develnpmmt_

00curs in a spiral anner, not linear,
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Preconceived generalizations about behavigur of yaro o gender are called :
(1) Gender typing

es
(3) Gender discriminations Gender stereotyp

- (9) _Gender identi il
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In an inclusive classroom : ;‘L___ 2

() AL children follow same curriculum.and uniform pedagogy is adopted for all learners,
(2) ‘Special children’ always work on theirsown curriculum.

(3) All children have access to and are included in classroom activities.

(4) ‘Special’ children are looked upon ﬁﬂ;ﬁd}f and dependent.
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According to Lev Vygotsky’s theory, which of the following is a recommended approach in order
to optimize students’ learning experience > =
(1) providing students with work that the¥ can manage and complete individually.

(2) providing students with work that-is completely unrelated to their current level of
understanding, ' { 7]

L s g )
(3) providing students with work that igjust beyond their current level of understanding, with
appropriate support and guidance. = . _
(4) providing no support to students and Teaving them to struggle on their own.

S AT el i TR, T S e e i Agat g % fory frefatad 3 3 -

srgeten e ¥7 Lol G
(1) BBl % TE FW YeH w0 Y 3 sfsar e 8 FEiEm 9 w0 H i

(2) ST I AW W TG w0 S S B F A W T A § et @
I F T TR R i v St andd SR AniEyE % Wy w5 9EE S
(4) DT N hYE e T & & 3 eTed 57 WOH N o few gy A

When presented with Heinz’s dilemma, Arunima reasons : “The law wasn't set up for these
circumstances. Taking the drug in this situation isn’t really right, but it's justified.”

Which stage of moral development is Anmia according to the theory of Lawrence Kohlberg ?
(1) Instrumental purpose and exchange- -

(2) Social concern and conscience ==

3

(3) Morality of contrast, of individual ri’g_l-riiand of democratically

(4) Orientation towards punishment anél “obedience accepted law
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While talking about her poor marks til;l?"'a thematics Avisays “Tjust don't have the sense for numberg
Avi is attributing his performance &

/ﬁ’) Lack of ability '~ (2) Luck (3) Task difficulty (4) Lack of effort
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Assertion (A) : While some children start babbling a Mttermg two word sentences at 12 months,
others don't do this tll they ave 20 nm{:ﬂ-.ﬂ old,

Reason (R):  Development milestones are only

'%U{,’ge&twe and development of individua
children can be quite varied,

E
Choose the correct option.

(1) Both (A) and (R) are false. s
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4)  (A) is true but (R) is false.
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Which of the following is not a characteristic of a well-formulated critical thinking quesftion ?
(1) It promotes higher-level thinking and problem-solving skills.
(2) It is open-ended and allows for multiple answers.

(3) It is based primarily on factual information.
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(4) It requires analysis and evaluation of informatiom? b
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Assertion (A) @ Teachers should constantly

with children. ' @xamine their own attitudes and biases while working

Reason (R) : ~ The process of problem-solving ic 1: ) ‘ .

Choose the correct option. Mg 18 hindered by functional fixedness,

(1) Both (A) and (R) are false.

@) Both (A) and (R) are true ard (R) .is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) ig‘hot the EGH:; Explmﬁml_ofl &

(4)  (A) is true but (R) is false, ;;%G :
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Assertion (A) : Classroom pedagogy should be culturally responsive to meet the needs of students
from diverse cultural backgrounds.

Reason (R):  Equity in classroom can be ensured only through standardized curriculum and
assessment. =

Choose the correct option. -

(1) Both (A) and (R) are false. N

(2)

Both (A) and (R) are true and (R) ig-the correct explanation of (A).
(3) Both (A) and (R) are true but (R) i

s.not the correct explanation of (A).
(4)  (A) is true but (R) is false. 3 ;
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Howard Gardner's concept of Intelligence implicates that .

(1) intelligence is only about “practical”T€arning,

(2) everyone processes and understan e world in the same way.
(3)

human beings differ in their abilities in different domains,
(4)  intelligence has only one dimensio
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Which of the following is not an effective memory technique for meaningful learning ?

(1)  Elaborative Rehearsal (2) Rote Rehearsal

(3) Mnemonics (4) Concept Mapping,
Treiafaa § 4 @i o s e % 0 R e wi s w1 e
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Which of the following sequence of rEPfE‘"*Er}tﬂlmn of concept is in accordance with childrer/s
gradual development of cognitive abilities 7 .4 2

(1) symbol-based, image-based, action-basefl~ =

(2) action-based, image-based, symbol-based <
A3 image-based, symbol-based, action-based _

(4) symbol-based, action-based, image-base{™ _

=
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(1) Ha-ameni, sfa-snafte, Bea-smnfeg <2

(2) Tora-snaitm, sfy-snfm, dF9-anafa

(3) Sfa-smaiE, dha—anaiE, Fa-smfe

(4) EFa-snaifm, fem-snata, sfE-smafa

Assertion (A) : Teachers should focus on asking questions in classroom and encouraging children
also to ask questions rather than gwmg instructions.

Child-centred pedagogy means giving opportunities to children’s voices and
ensuring their parumpahl:m o ,
Choose the correct option. i3
(1) Both (A) and (R) are false. 53
42) Both (A) and (R) are true and (R) is I.hEi‘erEEt explanation of (A).
(3) Both (A) and (R) are true but (R) is not tha correct explanation of (A).
(4) (A)is true but (R) is false.

Reason (R) :
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i
Jagriti has learned that her dog, Rusty, is a Golden Retriever. When she sees another dog t
looks similar to Rusty but is a different breed sl she calls it a dog too. According to Jean Piagelt
theory of cognitive development, which conc ﬂoes this demonstrate ?
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i experienced ¢ : —
ral chﬂdren;iiﬂﬁed“’hﬂhmger 3‘“3—'31 T\?Ew (human) social deprivation since very young age
; v 5 $ood |
ually have delayed or ed development and despite rehabilitation the improvement in

rtain d{;.ma%ns of develnpmen_l' is likely to be subordinate., This period wherein development is
ificantly influenced by environmental support is called

] EEHE?tf“E per?nd (2) kde-t}l.ﬂn:ti't.r«e period
)  intuitive period 4) Gadve period
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Repetitive and ritualistic behaviour is an identifying characteristic of :
(1) Cerebral palsy

(2) Autism Spectrum Disorder

(3) Learning Disabilities

(4) Attention Deficit Hyperactivity Disorder

Sres 5 S fHe S e seEr R fafte wem 2
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Which of the following would support cuntié:gﬁs and comprehensive evaluation ?
(1) Standardized intelligence test (2) Best works portfolio

{3) Growth and learning progress purtfoljm (4) Standardized achievement test

Frtatea 4 wF-w1 Fiat #i oA qeide! guedE S ?
(1) TS gha TaE (2) wTEgS wE dEHiEE
(3) gfz sir wfam i S (4) WHSIHG e e

. Which of the following is correct about the process of learning, according to socio-constructivist
theories 7 ;

1) Learning is a social process of meaning ing.
(2) Learning is an individualistic process m%%%urs in isolation.
(3) Learning occurs only in a classroom or formal educational setting,
(4) Learning is a passive process that occurSsolely through observation.
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PART - 11 / I - 11
MATHEMATICS | TRfg

e following questions by &I-:r:tmg the correct/inos} appropriate options.
the fo
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cand +13 hundred +2 tens is equal to ;
2 thou

31. {” 197490 (2) 12132 %’; 130132 ‘_}41/ 13320
(1) 121320 @) 12132 13.}&. 130132 (4) 13320
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32. Onecroreis:

NI
(1) hundred million @)/’t&n million {ﬂ:} one million (4)  one billion
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33. Which of the following resources is best suited to expliin the concept of decimals 7
(8) Number Chart (b)  Dienes Blocks
() Taylor's Abacus (d) f&a]gh Paper
Choose the correct option :
@ @and®) 2 onyw \.ea?i” ®ad@ @ (@) and g
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34. Which of the following letters has no line of symmetry ?
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n a certain week, the number of patients in a dental clinic was as follows :

I

Day Number of patients
Monday 25
Tuesday 38
Wednesday 45
Thursday 18
Friday 36
lSaturclay 39

Based on above table, choose the
Total number of patients was 200 "E

@) Range of the data is 27 ./~

(3) On most of the days, number of patients was more than 30
(4) Difference between the number of patients on Monday
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and Wednesday is 20 1//
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| the follow
g then whieh Ly iy=p—q:q
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37.

Which of the following Indian mathemiticians are known as founders of ‘numericy) 3

anﬂ]}FEiSf ? . . =-;|. [L
() Ramanujan (uE“ﬁ;}‘}haskamchar}ra
(iii) Varahmihir . {iﬁ%jryabhatta

Chpaose the correct option.
,_}-'f (i) and (iv) (2) (1) and (i) @) (and(iv) @) (i)and (i)
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38.  Which of the following statement(s) is/ Ht{l‘ﬁ about numbers ?
(a) Al positive integers are whole numbis’s
(b)  All whole numbers are integers, &
W () Al rational numbers are real numbers,
Iﬁk (d) All irrational numbers are real numbers,
: E} Choose the correct aption : )
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e main approach suggested by National Curriculum Framework (NCF) 2005 in teaching learning

- mathematics is :
n} Constructivism (2) Instructivism  (3) Pragmatism  (4) Behaviourism
I@Wﬁﬁﬁﬁm@ﬂmm%ﬁnﬁm%ﬁww St A AR T

1) EAEEEE () R (B wwifmEm  (4) T
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Students in a class are solving questions basedioii percentage discounts. One question requires the
students to calculate the cost of two bikes, \.gfu%

s 8% discount on each bike. One of the groups
calculates the total cost of the bikes and then ded

£ uicts 16% from the total cost. The method used by
this group is -

£
(1) False, since they have deducted 16% fligﬁthe total instead of 1
' total e

(2) Correct and is the only way to calculate the discount and cost.
(3) An alternate strategy to solve the question.
(4) TFalse, since they have deducted

6% from the average of the

—

16% discount from the total instead of 8%.
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41, While teaching equations a teacher explains ﬂ\@mept of a linear equation having unique solution.
She furfher asks, “If a solution is given then how many equations you can create” 7
Choose the correct option :

(1) Two equations (@)' One equation (3) No equation (4)

"mwﬁmwﬁﬁrmfﬁlﬁqﬁﬁwwm%”?

Q) D () T fﬁ; o T T (4) W
SPACE FOR ROUGH w@mqw =l % e T

(N
x& 4y = Y
TS ®

L—
)
"ﬂ"'?‘rﬂ/-’ F;SV? F-D

Many equations

) THEE §1 € 3 g g
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42. Two columns are given as shown below :
Column - 1 Column - I1 % 45
(a) face of a black-board (i) two end points "‘:.‘t ) .
(b) a line has (i) one end point \'-!} ";»W
(c) aray has (iii) ¢ (Fepresents a part of a pla .
(d) aline segment has (iv) o o definite léiis_gﬂ-lu TR i
Column - T and II are matched as : .y
Q) @), B, ), @ T
@) ()G, B)-G), (©-G) @-v) I
ﬁ (e)-(iid), (b)-(ii), (c)-(), (A)-iv)
ﬂﬁ!?::'aﬁ'}éu:rt %bzf'[w}r (C}'ﬁi]r (d}*(i} :___%
i B,
wWu-1 {;f} wWY-1I
(a) ¥HMYE I TF HeE ] ‘“ﬁaaﬁﬁg@ﬁﬁl ‘
(b) T (i) T o fag T \ff\ .
(©) ‘Wﬁﬂ“‘_ﬁ; (i) e A o M Pl o € F Ak
(d) s % v) H Fifia oard T ol & o g
e -1 2 = e n_,ﬂ’m% =
() (@), B, ©-0v), @) , ~ il
(2) (a)-(ii), (b)-(iii), (c)-(). (d)-(iv) ) . » %
@3)  (a)-(ii), B)-(i), (©-(). (d)-(v) 8
@) (a)-(), (b)-Gv), (-, (-0 £ 3% /._%4
43. If (7 * 2) % (123)=92496, then value 9 = A W {5 &
) 5 2) 2 el ) @ 4 |
afe (7% 2) % (123)=9249 &, T * e
1 5 @ 2 E @ 1 @ 4
44. Saumya joined her job on 13—1]1-199%?2:1 she took retirement on 31-03-2023. Duration of b
service was :
{1') 31 years 2 months and 18 days  (2) 30 years 10 months and 19 days
(3) 30 years 9 months and 18 days (4) 31 years 2 months and 19 days
e 3 13-01-1992, F1 A HT A feeo i 51-03-2023 I T Farrgt & ot I E ekl
Fafy of :
@y 51742 @ o8 30 ard 10 W 3 19 A
@) 3079w o 18 f a1 7 2 R 81 19 & j P e
SPACE FOR ROUGH WORK / T w74 & fog e .
A -
{3 o) 57 a
] (\ﬂt o) ot 1 '3 - qfl‘fq "' C
2N o T&.’; Quo) M1y amd
\ Ly \ ks J\ . i < M P-l

H
Pt (ENBAINIRIEEE
i NGRS

9
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[norder to identify - dividual differences ofstudents in the mathematics class, which of the f .
assessment technique will not be ﬂpprnpf%&@_? e athe class, which of the following

(1) Peer assessment

(i] i Summative assessment
(3) Formative assessment

(4)===Diagnostic assessment

nﬁﬁﬁwﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁﬂmﬁgﬁﬁ%ﬁﬂﬁﬁﬁﬂﬁ%ﬁ%ﬂ?ﬁﬁr AT GRS ST
e 2t 2 N

(3) TR AT : {@ﬂmﬁm ST

Which

among the following is/are true about the computation in basic operations for Grade-I1
learners ?

(a) Itinvolves child's ability to develop informal strategies.
(b) Itinvolves child's ability to estimate.

() Itinvolves child’s ability to do calculations with large numbers.
Choose the correct option : :

B @ad®) @ Oy@© __ O Oand @ (4 (a)and(c)

el & el T R SR 3 it & ferg e @ F w2
(a) < e = S SR Pl R w

(b) <o = SR TR R S G € i

(©) sﬁa@f{ﬁa@?ﬁmqﬁﬁmwﬁ"ﬁﬁwmﬁ%ﬂ%l

e TFe @ : 0
e
1) () W) () FE() o,

30 Hke @O WO

47. In a mathematics class a teacher expl

scissors is a best example to explain - :

4] Vertically opposite angles (b). Linear pair of angles

(c). Corresponding angles (d) Alternate angles
Choose the correct option :

1) (Mand(@ , @ (a)and () @ (@) and (©)

sirte.the concept of different angles. He/she realizes (hat

(4) (c) and (d)
o o 5 s T T B ) o < /& 3% 7 o e & o el
=1 grgr 3 e e SR E ) o A
(a) i@ T (B T =B X T
(¢) ETa I (k) TTERITTT IV
T fawed 9 :

_ -
(1) ®)FE @ @aE CJE) 6 &t () (4) (¢ 3 (d)

% SPACE FOR mumﬂsfj)m /T T fee e
yld

%/f/ \-‘1"]/ % '5' w9
fé}?/‘\ q,nS' 'ﬂ )3 ‘d’# \“ \“fl.‘}
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49,

50.

51.

| Duude © ’\%

i Tr
1233210+ 5555 — 222 is equal to !
(1}3323 5 {2? 1 A£3) 0 @) 2 oY 3‘9555
1233210+ 5555 — 222 &U&T © ¢ i §
(y s @ 1 @ o (4) 2
m v

F 2 iﬁ!ﬁgcmasing order is :

i

1

1 12°'851 3 1 12 o 4 12 1 12
O ve7s @ 55 53’21“333' 7@ 9 @ g

e [
9’21’?'53@[ i m@

: L 3 121 1

1 12 3 1 812 % 31 1
D 3%75 @ 79% 7 76 9 2 ¢
One egg has a mass of about £5 g, what is the mass of 2 dozen eggs 7
(1) 1kg34dg (2) 156 kg (3) 1kgbég (4) 1.304 kg
T STE T GO O 65 ¢ ¥ 2 79SS 1 7o e 7

M 1kgssag  of' 15614 e Tkgség 4 1304 kg

“Which of the following represents the feathrda of a mathematics laboratory ?
(@) TItisa place to enjoy mathematics thioigh informal exploration.
(b) It provides opportunities to prove trﬁ'th_ tical theorems through experiments,

(c) Tt provides opportunity to make conjectures, test them and to generalise observed pattems.
(d) Itis used to assess students’ knowledge:of

mathematics and grade them accordingly.
Choose the correct option.

) (b) and (c) (2) () and (d) E\‘“] (a) and (c) (4) (b) and (d)
Trefertiam # | =0 nfvm ) ve weimowen 9 A =1 Tl

20 &) 2Ly
() % STl 9= ¥ g wfvw # s AR E) ﬁﬁf—%
(b) & T % 51 firdra ik 1 forg F ¥ oo vam T &) S
(©) wﬁwmﬁ,mﬁawmﬂﬁmﬁﬁmm#mmm%
(d) mmﬁwﬁmfﬁ%w%mmmmﬁ%mﬁhwmﬁs%%mﬁ”

T (e 2T ¢t
ﬂﬁ!‘aarﬂgff: m Lb,

O OO @ @ &J]?} () &t (¢) @ ®¥REq __i

SPACE FOR ROUGH WQRK / T v % fere
¥

N .
D o
{ 3 (notyy

LI i L

53.

54.

105

Whi
math
(1)
(2)
(3)

Q
=
T
(1)
(2)
&)

0]

B

Pl |



, 1,12 t
:t}q?”%: 1) 52 3, ) 7&
wﬁnﬁa

riculum Framework Fnr Fﬂm‘fdatinnal Stage (NCFFS), 2022 highlighted the importance
following components while teaching an abstract mathematical concept :

f
{ i
(c) Spoken Language (d)=Picture

.ch of the following is the appropriate sequence of these components while teaching an abstract
mathematical concept ? 4

) = (©) = (d) = @) @, ©O=@->@d-® l
!E?J/ (b) = (©) = (a) = (d) )30 - {:1}—3-({33; : {b% 7
AFE TR %

Tt T wE () U T ), 2022 3 S v sveemon ¥ i &
g eyl e o Wew W Wh SWLL

(a) ToifEa o (b)= 28T

(@ drm-<e el W (@ f=
aﬁnﬁﬁmmm#ﬁm%wawﬁmaﬁﬁ—mﬁmﬁﬁﬁﬁwm%?
) B-=Q-@-0 2) ()= @) - (- b

3) (@®) =@ —@~—@ 4) (¢ = (d)— (a) = (b)

Raju has turpentine oil in 5 containers each of ZIJIL size. He fills them in 10 cans of 5 L, 10 cans of
91, and rest in 1 L cans. Number of 1 L cans-{illed is :

(1) 28 (2) 25 =) a0 (4) 22
Tﬁ;ﬁ?muﬁﬁzﬂLm-ﬁﬁﬁﬁiﬁﬁﬂm_ﬁa%tmﬁﬁﬁlSLﬂﬁlqaﬂ'—i‘i,ZL?ﬂﬁ
10 TR SiC e 1 L A S F ) T A S WS

41) 28 2) 25 = @ 30 ™ @ 22

F= 3

il

4. Which of the following learning experigg_cgs for children does not reflect the contribution of
mathematics to everyday life and society 7.~

(1) Play small group games that draw On Mmathematical skills and concepts.

=

(2) Communication of mathematical idéas in writing using both formal and informal languages.
3)

Meeting people from different areas of employment and exploring how they use mathematics
in their work. :

(4) Collecting, organising, representing and interpreting data in day-to-day life.

Srfefias 3 | T & fom e T T Sy wAN qe 2 S | o % 4rER 1 fafated

T8 ?

(1) S TE A T e e S i S S el Eile s Ciitn g
(2) St T i e S 1 SR & v feremd < ferfen # e

3 ST 35 Tt a3 i & FAeEn ST e 3 A st s v = e R
Eackd = |
(4) SPr e H v o W A Fncgerared e, et S au ienfa w7

SPACE FOR ROUGH-WORK /Tt @t o fer svie
L7
= lwi
TN Jo= 1. So L
[yo L 2 n;

. gq,?ﬂ
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55.

56.

22 hm 8 dam is equal to :
1) 22080 2) 22800 m (3)_ 2208 m \ﬁf 2280 m
22 hm 8 dam =R § : (‘j‘;
(1) 22080 m (2) 22800 m (3722208 m (4) 2280 m
e
=
)

A mathematics teacher discusses the concepf of open and closed curve in

understanding of students she gave an example with four points. If the curve
of four points is :

class. For bety
is open then natyy

(1) Three of them must be non-collinear ~2) Al are collinear

(3)  Two of them must be collinear (4)  Three of them must be collinear

i)
"R 1 R 3 e e 4 % s e e forenfe it et e 5 o
AT TR TG % B/ v v 2 2 S B¢ T R gl ) ek

B2 .

(1) 3 & i vl 38 i @ e &
(3) = A& v i whe @E;*mﬁ i et 9 =it
£

57. Two angles of a triangle are 50° and 30°, Then, the third angle of the triangle is ;

&5 " go . . 43, 47, 53. 59
(1) A5 100 @0 (4) 60 @ 65
T B F 9w 500 st age mﬁwm%ﬂm%: B.47,%,59, 2
(1) &5
(1) 80° (2) 100° {Erlﬂ“ (4)  60° ————
SPACE FOR ROUGH WDRI@WE‘R&% ﬂ?lt['i’['l'ﬁ M By
N NMch e
dul ~ o
O i dme W e
S0 £ %o u["‘JI‘SfE“‘.‘:r‘H | chgv L7 5
| B 5D i 2 9
L e Hom dba ikt P1
P WAy - by 7%
| % q ! 1829 223
[0 XL26P 10 ——

58. Which of the f
that are logica

(a) Theconc
of numb

(b) Multiplic
(c) Number
Choose the con
(1) only (b)
w2 e 5=
T § 7

(@) ORI =i
®) T, G
() T=mamy
o T
(1) =3 @)

59. The difference b
3. %and 6 is -

(1) 851731
#HH15,1,0,3,0
(1) 851731

60.



Which of the following are c?nect examples of the statement “siathematics is hietatchical in levels
that are logically structured”.

¢ £ &
(a) Theconcept of integers needs L&EE: developed before the concept of multiplication and division
of numbers. Ll

# tny
(b) Multiplication follows and bgﬂtls on the concept of addition.

() Number sense needs to be dEﬁE}péd before the concepts of addition and subtraction.

Choose the correct option :

e

Ep——iy

(1) only (b) (2) (a) angl(b 3 (b)and (c) 4) (a) and (c)

T e o H Yei § L afth w @ ot § % fau frefafas § 9 -3 W@
TR B ?

(a) il it wHmm Y Hene 3 O i a R smron & 73 fawfa FE F AEvE A §
(b) T, A SR SIEA & o 38 R i i

(€) ﬁmﬁaﬁwmwﬁmﬂﬁmmﬁmﬁ%t

T e i - L

(1) Ee (b) 2) (a) FE (B (3)  (b) & (o) (4) (a) & ()

39. The difference between the greatesf?n?_?:l smallest 6-digit numbers formed by using the digits 5, 1, 0,
—=

3,%9and 6is: -
(1) * 851731 @ 361?%?;% @) 862731 4 951741
Si7 5,1, 0,3, 9 3N 6 T = TG 99 oI GO T 6-37H] I HeEA W SW ¢ :
(1) 851731 (2) 861741 (3) 862731 (4) 951741
60. The missing number (2) in the following : Yy 6, ¥y 0,4
43,47,53,59, _2 67,71, 73is:
(1) 65 2 6 L2 (3) 60 4) 63
13,47,55,59, _1_ 67,71, 73 % g Een () & : 3.4/
(1) 65 ~A2) 61 ETL: (3) 60 (4) 63 a{”?ﬂ’ f
4 Bro EPACEFDRRFJ:U_GHWDRK;WW'&E fora s a ¢ 2,3,1,0
a b5317 ) |
013541 L
f/ﬂ/‘/“/& U 515592 $8 by S
HE T RECL G
XTI 19 gg M ! 9¢42)9 D
2,2,?1? u\'*_'_s“!‘n il 5 .
‘el 6> t2v



PART - Il / ¥I¥] - 111
ENVIRONMENTAL STUDIES / qa{awu] g4+

Direction : Answer fhe following questions by selecting the correct/most appropriate options.
Fder : et wot & wwr & 4 forg W/ e SR fawey gfg)
61.  Consider the following statements {A) and (B i

Statement (A) : Crows build nests on very low branches on a tree.

Statement (B) : Weaver bird stitches two leaves to make its nest.
Select the correct code from the following : =

A) is wro is correct.  (2) Z{AjJ and (B) both are correct.
"g EA} :fnsr[ﬂr;gbl;flz Trl WIOng. I‘Eﬁl] i&%iﬂ correct but (B) is wrong,
R o T e (A) si () W R Fi T i
W[ﬂ}:aﬁmﬁgﬁa@ﬁmmﬁmﬁg@%l
+YF (B) - Wqﬁﬁﬁﬁwmﬁmgl \]97
ﬁﬁf’ﬁiﬁﬁﬁﬁ@%ﬁqﬁm
(1) (A) 7= & W (B) 56 ¥ (2)  (A) i (B) 2R e

(3)  (A) 3R (B) 2 e #) (4)  (A) &1 % W (B) Ted &)
EVS at primary level is recommended to be transacted in an int
appropriate reasons are : k3

“(a) EVS draws issues from subjects like Science

62.

(€) It helps to reduce burden of students and teachers.
(d)

It is convenient to teach integrated EVS:—
(1)

(a) and (d) (2} (c) and (d) (3  (b) and (¢
IHH TR w®

44)  (a) and (b)
ﬁ@ﬂﬁmﬁmﬁ_ﬁaﬁﬁﬁﬁmﬂﬁﬁﬂ%i T U
€: :

(a) éﬁmﬁqﬁﬂaﬁﬁmﬁam%%ﬁﬂgﬂ.mﬁmﬁnWWI
(b) & Tl T foefim 0 F qeg wa )

(c) B R Fari % =) FH T HeT e ¥
(@) THIFA T e g

1) (a) 3 (4) @) (o) ¥R (q)

63. Select incorrect statement about

| e elephant he;d_s__ from the following :
(1) Male elephants of more than 15 years of age leave the herd .
(2) Female elephants live in herds, s e MEA ot slone

(3) A herd has 20 to 25 female elephants aRd Their youne o
' (4) Male elephants live in the herd till the e Ko

et 3 T 3 g o o ey & Eé’fém'ﬁ years old,

(1) 15aﬁﬂa&q¢ma7mm%_&ﬁ j Eai'?:'ﬁ%
A2) ST e H e g %is% W |
{3] W%ﬂgﬁmﬁ%ﬁ e g L 33

atl o s
4) T 14-15 4 i} o1 T & %ﬁi?%g?%‘
p-1 (Wmmy 20

-"_ |

egrated approach. The most

lence, Social Science and Environmental Fducation,
“{b) Tt helps in developing holistic understariding.

@ OO @R
S

6d.



g4. Youare located at X and your school is located

b6.

67.

M E{ o] w1

o

_ at Y, There is no straight path from your house to
your school. So you first go to A which is about 125 m due north of X, then go to B which is 75 m

due west of A, then go to C Wl'liﬂ"l is about 150 m due north of B and finally reach your schoal at
Y which is 75 m due east of C. With respect to your school at Y, the correct direction of house at X

is:
vﬁj' South east (2) Due North ¢ }3] Due Sotth (4) North west

st B X T Ferd & o s faaem v & ® 1 o o) R e 7 & form 3 wief v
§1 37 3 T A WO § S X K S I e 125 wiex 3 g WY, e am B o £ A
& Sis wivem H 75 et 1 gl W, R s o s # B % <ok S H @ 150 izt 7w 8 2

S H Y WS e E €S C % 20 v 75 e A g W Y w e Formers 5 A
X T 39 SR e e = 2 =

sl

(1) wfem o () FEIW  p @) I @) s frm
fosd

There is a species ‘X’ of plants that grow in a huge number but is found only in “Y” part of India in
the whole world. Which type of species is it ?
(1) Endangered (2) Abundant
(3) Exotic (4) Endemic K
e O S X R S g s wen § ey o & S 9 fa d a3y o
I T W 5y €2 s -.

| (o i A

4) foqa Ed F Fm W | & | 3
(3) e B ) L

AW B > 15w e
Select from the following a group consisting=5f alloys only :

] Steel, Brass, Bronze (2 =*Brass, Bronze, Lithium %E
(3) Magnesium, Aluminium, Steel ;";%teel, Brass, Tin =
Freferfan 3 8 50 T8 H1 G S e @ ¥ s
(1) e, 7m, T+ (2) 5, i, fofes
(3) FiferEm, Tegmity, w2 (4 =, 9, fm

An EVS teacher asks her students to imagine and answer, “What would have happened if all birds
were killed at once from earth ?” Such a ﬂﬂﬂﬁﬂn is :

(1) Philosophical question {Zz'j-anvergent E[UE‘Sﬁﬂn

(3) Hypothetical question (dﬂrpivargent question

e el forfer o o & e e oy ¥ & frg e 2, e dv ey Y
T Fe AR fean s 2" i v ¥ (ST |

(1) ewifes 7 (2)-Ssfirend A AN B2 3m.

(3) el E’mqrﬁ pig ETY

PU TR 21 0



> day ¢
68. Itis 7.30 P.M. in India today. It i8 2 P.M. of the same day

(1) inKarachi (g indopdon (3) inJapan (4) in Dhaka

ST H 7.30 PM. &1 st et 2 DM R : )

(1) @) wed (3) SmEH @) wERH
._rﬂl'

69.  Which of the following Eﬂate@ﬂmﬂtes inquiry while teaching the theme ‘Travel’ ?
(1) Showing pictures of vari d laces of interest in nearby areas.
(2)  Asking students to collecl-pictures of various means of transport,
(3)  Asking students to narrate their or their neighbours’ experiences of travelling.
(4)  Asking students to make a digital presentation on vintage cars.

Freiferfiom & & i = o A R e e s () w5 e
(1) <e-9/= = &= 7 wf= & fafv= =i % & famn

(2) = W ufiges ¥ faf= %%ﬁimm%ﬁqml

Y BT A S W e 0 iy A % SIS B TAH F A Fe |

(4) = g FH w fefeswatt 23 % fan s

—

70. A teacher follows the followirg IHethods while teaching

EVS : Think-Pair-Share, Reciprocal Peer
Tutoring, Jigsaw Strategy and Deer Review. These are ex

amples of :
(1) Inductive approach ﬁp} (2)
N

Peer group learning
(3) Constructivist approacht.s 2 (4) Didactic approach

m%wwmﬁqﬁmﬁmﬁmwm%:@@—ﬁ@—mﬂ,mm
T, TS (Jigsaw) ORI, Wewret gdie ) 3 T -

(1) SHAEE 39 2] T weE R e
(3) TEHAHE AT (4) IURIRHF ITIH
71. Saleem and Raju are young h&@‘?

l[goers. Saleem likes to eat lot of fried food and ‘maida’ products
Raju on the other hand eats 1

Qfgg_ made healthy food but he never eats spinach and other greet
leafy vegetables, Which of the ollowing disorders they are likely to suffer from, respectively ?
(1) Pellagra and Anaemia (2) Scurvy and Anaemia

(3) Kwashiorkar and Anaemija- —f4]  Obesity and Anaemia

il SR T, T 9 A ey =1 e G W ST e ) o e g el 1 g
=R T T W Ew T8 e S S T e wheRt e w3 A
Frremfeiat 3 8 somt: fove fermre % i 2% = e 42

(1) I R arfifip

(2) E=HEl S s

(@) TR R i (@) e i s

p-1 [ 29 | 0

A »




72, Map Reading activity in EVS classes develops certain abilities and skills in primary students. Thase

73.

74,

are 1
(1) Understanding relative puaﬁﬁ:ﬁs of places

(b) Understanding directions CE EEICEE

() Understanding symbols an % cale

(d) Drawing precisely acmrdjng__gi the scale maps

(1) (b)and (c) —3 @ (@), ®) and (o)

@) () (c) and (d) B @ @) () and (@)
ﬁ@mﬁnﬁﬁﬂwﬁﬁ@@ﬁﬁﬁmﬁﬁnMHMW%: 3%:
(a) Il 1w feafa i W |

(b) =l i fewmel =t wmgm

() W SR A g

(d) ﬁ#ﬁ%m%mmw%m@m

M (b) R (o) o B @0
ORNOACELC) U1 @ @o&ka@
A

With respect to Telangana the re%eét‘we locations of Gujarat and Bihar are :
Ly North west; North east '="":' (2) North west; South east
(3) South west; North east _ . (4) North east; North west

T <5 Wrie o SR farer o spag: feafe € -

(1) e wiem; o 3 (@) vE v, 2y
(3) = o, s (4) T E; IW 9ivEn
Which of the following best reflect experiential strategies in teaching EVS at primary level ?
() Discussion (b) Demonstration
(c) Field Trips %;u (d) Art integrated learning
(1) (a), (b) and (o) Cl (2)  (a), (b) and (d)
(3)  (b), () and (d) ) 4)  (a), () and (d)
Fortfofag # & S mafTs T TS0 1o § SgvEmer OHRET R e s gt 2
(2) =l = (b) Wi
(c) &= yAY E:Z‘:j (d) e s faEn
(1) (a) (b) & () @ (@) k) W)
3 (b), (¢) ¥ (d) () () (o) 3 )

T 23



75, Envimnmunt in EVS means :

enviro t
() Man-made environment ?;i Ei?:::l e_nv-:r:r?:;nt
Social environment ulty
if}"" {;??U}?ll;l:::;:;l (2) (a) and (b) FE(S} (b) and (c) (4)  (a) and (o)
R H 14 ;
() v B (o) g e :
(©)  wmfSres wata (d) Segfes TR ,‘
O @) ©ek@ @ @ b 16303)  (b) @ (o) @ () #w (g
i
76. Read the Assertion (A) and Reason (R) b‘ElDWifE_} choose the correct option.
Assertion ( A) : Travellers like Al-Biruni and Thn Batuta travelled from India to different countries,
Reason (R) : Travelling led to sharing of ideas between people.
(1) (A) is false but (R) is true. .
(2)  Both (A) and (R) are true and (R) explains (A).
(3) Both (A) and (R) are true but (R) does not explain (A).
() (A) is true but (R) is false. e
Pt st (a) e wm (R) =) A e q T o e
A (4) A T T S N M & e i o
SR (R) : Wﬁﬁmﬂ_ﬁ—m%@ﬁmmmm%;
(1) (A) 7em & R (R) w2 :

BT (A) R ®) T (R), (a) 9 A |

(3) ﬁ{ﬁ}ﬁ{ﬁ]@%ﬁ@{n},mﬁ@m%.
@) (A) & 2 By (R) Tor 2 £

77. StatementT: The EVS curriculum ig framed within socia] constructivist perspective of learning
Statement 11 ; Piaget's ideas about children’s learning wi i

I and Stat

ement II are correct
(3) Both the Statem

ent I and Statement 11 a{»@vfﬁlﬁe
() Statement I is tryg 1y Statement 11 is fafig™
T 1 mwmamﬁﬁwwﬁmﬁmw*&l
FoI 357 2 B g A R o e < e

i ey ¥, s |
W) a1 e § vy o 1y e ¢
@) FE o 11 g 2, O
(3) Wlﬂi‘r{ﬂaaﬁn?ﬁiw%l !
W*Wlm%ﬁﬂimllam%l
D
T 24

Yy e



; u 3
o NCERT Eextﬁﬂﬁjk loéf ;1‘:15 dinI;E;? ;a ;:1 Story of Suryamani who lives in Jharkhand. The
* hapter depicts triba i fyamani. Seloct the most important aspects addressed by
he chapter relevant for s '

(a) Popular perceptions and biases about thdtrihy| communities.
() Close relationship between forest d‘“euemtlhmmuniﬁes] and forests,
© Girls education how it changes their life, *

(d) The forest products used by tribes, :;—:E
> o 4 WD) i
6 Bemd @ &R and @)

mﬁmmﬁwﬁm%ﬂﬁ@ﬁﬁﬁmﬁﬁ%l T A
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- "Record how the seeds germinate into sapHngﬁ?ﬁém day 1 to day 10", Rita gave this task to her
iﬂimisbefure teaching the lesson on ‘Germination’. She is trying to

assess her students’ ability

() draw and represent (b) predict how germinating seeds would look like
() observe and record (d) infer from the given activity
M) (a), (b) and ( (2) (a) and (b)

A (b) and () @) () and (@)

e T 8 10/ fo e dvon o v i 7 A AR A0 stz o v e @ v s
Rl 1 gz o fegr| o a9 Dl @ i HICEEA R SRS 0 ) ifor o 30

@) ot wmd e e (b) ﬁf’ﬁﬁﬁﬁfrﬂ%ﬁﬁ&ﬁ
© e =% o feté (d) 07§ e A frerd freme
0 @), 6) o @ il
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80. Mountaineers suffer nose bleeding at higher altitudes because :
(1)  Blood becomes thick at higher altifudes,
(2)  The pressure in blood vessels exgt';-ﬂm outside pressure.
(3)  The pressure in blood vessels deg‘%jes than outside pressure.
(4)  The pressure in blood vessels equal$.the outside pressure,

Wﬂﬁﬂ%hﬁﬂﬁﬁ@?ﬁéﬂwm%:
(1) e Fred 2w/ e I R R

(2) = Akt § gam awd suE ¥ afi @ e
A3 v it wam e e A FH 9

(4) TR et # o A TA 3 e o

£}
81. Which one/are of the following mnunim?g% is/are considered to be voleanic in origin 7
/]

(@) Mt Kilimanjaro (b) Fuji?Eﬂia (c) The Alps
Choose the correct option : A '

) @and@®) () f@and {q: () (and(c) = (4) Only(q
Wﬁﬁﬁm{ﬂﬁﬂﬁﬁ@ﬁm@ﬂﬁﬂﬁ%?

(a) W Tfedem (b) P (c) oo T
Fﬁrﬁmgi‘r

1) (a) 3 (b) @ @M@ @ R @ = ()

82. Roshni, an EVS teacher displays a data chart for how many seeds out of 20 seeds each of mﬂfﬂ“
green gram, Bengal gram and chilli se@%gemﬁmted. She asks students to explain why variat
in the germination rates of different Se"aiﬁ soceur. She wants to assess the skill of :

(1) investigation { |2) experiment

(3) prediction m | drawing inference

3 2
erl, € i e, <, S < s e S e 20 i 4 4 ey e S

TR 0 21 1 e o | i T o v o e il s 0 8 e 7
g T A DR 7 e e R

(1) i (2) v
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f
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p’u

0

ﬂgﬂﬂﬂiﬂn : Zt;ri;::i T:I::h‘féﬁeh:;:ﬁleﬁ lllsed_&unughuut the EVS textbooks. =+

Reason * a story Of “maﬁiié;}fﬂxtbunkailsmce he c-_r‘she can EI!lr"I.PathiEt? wlti} characters in
exist within our §otibty. 1ould sensitise the child to wide differences that

q) The Assertion is false but Regison is e,

i d Reagon )
(2) Both the Assertion &l REASN are correct and Reason is the correct explanation of the
Assertion. 8

(3 Both the t_ﬁserﬁm and Reaﬂnéﬂl"i correct but the Reason is not the correct explanation of
the Assertion.

) Assertion 15 true but the Re F% is false,
SR iy %W%WWWWW%

T 9 & T 0= ) Wi | i e et e e aemef E wE R

| TG T T T 3 iR g e W 3 9 e 9 e
(1) aﬁ:ﬁmaﬁﬂ%ﬂﬁm'ﬂfﬂ%t

,@/ SR ST F T 4 T € St s, stfienem o w8 =ren w5

() Hfveme S HROT T ¥ A R, s 9 wé men 76 e d
() R T ¥, IO T G R
?h‘_—l
On a Union Territory map on its one corner following scale'is mentioned.
o B
Scale, 1 cm=155 m W U

b |

If a person measures the distancetBefiveen two cities as 19.7 ﬁm, the actual distance between the
two cities is approximately : L) :

(1) . 305 km () 310 Ky () 31.00km 4] 305 km
flt ez i o S AT & 0w W A feu e YRR g e d
M, 1 em=155 m

ot 5 e g e T Q) vied 3 o G0 19.7 con W & 0 € < v 3 oft o et g
T -

(1) 305 km (2) 3.0 km (3) 3100 km ' @ 305 km
' o | .
The volume of the earth consists qitlie following : | S8p rﬁa
® 1% Crust (b) -S4% Mantle () 15% Core -
Choose ion f mth%ig]!awing: . vl
Ay Ml&l;;n;;:tnap[ﬁc?l; E‘.:lzcarl'fﬁﬁk‘ﬂ- J (2) Only (a) and (b) are correct, al
®)  Only (b) and (¢) are correcty (= (4) Only (a) and (€] are correct. 174 1, FﬁE‘J._
V3 s Pttt €9 € 1y | 7
@ 1% o ) (& FeT () 15% ws " i
Pt 4§ wl faered 91 LA lse
0 wh,pamew@s @ E taf’_ i ::?:;*;' l -:q :
)
®) e ) e (9 7 € () 133, 1 1[? )
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following Assertion (A) and Reason (R) and choose
d the
g6, Red

ion (A) : People can easily float on the gy
Asserlio *

the correct option,
know to swim.

rface of Water
R):  Dead Seahas300g
R"'“D_n ®) salt concentration,

m of salt in ope litre of Watey making it, the sea ha‘ir'ing high
: ; g
(1) (A) is false but (R) is true, Q{:j

(2) Both (A) and (R) are trye and (R) explﬂ_gfﬂ”i{ﬁ}_

(3) Both (A) and (R) are trye byt (R)

of Dead Seq even if they d;- . 88.
Ty

_ dose %@gxpiﬁm (a),

() (A)is true but (R) is false. \J |
ﬁ%mmmwm{m“maﬂﬁ;wﬁﬁmﬁﬁﬁ; :
STHTHST (A) W%m-ﬁﬁm%%@wﬁ%mﬁmm%!
I (R) %Tﬁ@%%ﬁ 300 T 575 ey <y <

Ay (&) e & g (R) wdt &

@ = (&) W (R) = e (R), (A) Ft =amem = 3

(3) W(A}W{R)Hﬁ%ﬁﬁ{n}.mﬁ%ﬁm%
@) (AT Ty (R) T &)

Ov

As an EVS teacher

» YOu wish your students ‘ﬂﬁ)%haware of their own safety around adults so t
they (can take care of themselyes and) do not
1s most appropriate ? :

ey to sexual harassment. Which step you this
w3
(1) Hold Se]f—defEn;e workshops for girl stidents

(2)  Teach them about POCSO Act 2012

87.

(3) Teach them to avoig strangers
(4) Hold workshops about ‘Good Touch’ and ‘Bad Touch’ ;
wmmw%mﬂ,mm@%ﬁmﬁﬁmﬁ,mﬁmmwwﬁﬁg
mﬁﬁ{mﬂ%@%mﬁ%@ﬁz)ﬁqmaﬁﬁﬁmﬁl TR I 1 e T T
(1) ot % foy, smemen wdumen sTAfH a5 )
(2) " 7 el e, 2012 % it & D
: N h
3) B%Hmﬁzﬁﬁgmm

s
. ()

e T i e R i SRR
P4 MR &
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30.

elect the group of poor conductors of heat from the following :
(1) Wool, Plastic, Wood

“12)  Wool, Wood, Iron
) Air, Water, Copper

(‘%}:}Air, Wool, Aluminium
oy R o F TR WIE T H E\Jl

{'1} &, Wﬁ?ﬂ w

(& aqﬁ“ﬁj ﬁrﬂ
@) T, 5, W

( CL&‘EET, T, Tt

e
Samar asks his students to consult their f

. ; amily members to find out the names of different food
tems cooked by different methodslike stefing, roasting, boiling, frying etc. The most appropriate
reason for this activity is to: (33

(1) encourage home work

(2) encourage experimentation

(3) improve social interaction

(4) provide opportunities for children to work in groups
TR 3T BE 4 A IRER F W |

o % fom wem £ T 3 SrEm-aTen ol 9 Yo Y
STET-3TeRT T WS % A I e, SRR 0 3, o5, SeeE, qo onfe | e SugE SR
T -
(1) & wE S HediEd S -
@) M S H e\
<(3) TS el § gar w5 L)

_ L
(@) == v w6 T g He

Select maximum number of suitable tools of assessment to assess process skills in EVS,

(@) Teachers diary (b) P:Irnjecl:' work
(¢ Drawing diagrams (d) Picture reading
(1) (a), (b) and (d) (2) (a), (b) and (c)
(3)  (b), (c) and (d) (ﬁ?- (a), (c) and (d)
Bl 1 Sefrw  ghp S 1 e S i ST SRl 6 stfieRan den 1 =
) _—
(@) T =P @aﬁ;ﬁwm
() fer=Am (o J Forr e
) (a), (b) ¥R (@) :Z?) (a), (b) ¥R (©)
G) (), (0 @ (@) () () S (&)

29 D
i T



r

| 9

M-y
M- . =5

==y qﬂwﬂm—rv"(:ﬁ?é.glirnn)#mﬁaﬂﬁﬁmm_lﬁwﬁ

s e &1 7 el SR PR 1 e &, S s o et o g 5 el SO A
e &1 g 8 R 3 N R e %, 3% e ) e s st 1 o 9 0
e, F78 W ARSI % o a

Tl AT S Y T, 378 ol iR et e o o i s, et o 3 v 9 spefm

8 ot e et e P S 2| S e o e sy o e e e &, o e & a4
1 ot T

g1, T okt fERE W A € -

) ﬁmqm (& TN (3) o H (4) yHdE e
92, aﬁmmmw?ﬁﬁ;@ﬁ%—

(1) 9 e R sigy g (2) WS W dFW

(3) ¥ wey F foau GRS ) T FEhE s
A
93, W#ﬁﬁﬁﬁﬁﬁﬂf%ﬁiﬁﬁ‘lﬁ%?

() o, woe ey (2) U ForEw, HHN T

(3) o= FH, T FA by TS R, e
%. 'svrE’ v A T 1 WA o S e

M 3 @ ¥ S = 4
95, T 974 % fom _ﬁﬁq{ﬂﬂ"ﬂ?'@ﬁﬁml

1) e %%E i N @) W=
%. Moy o o o A |

AW ot g @) 3R v

O Fw@FI (4) IR Yo
7. T 35 e e A 1 g7 WEE &

& T (@ form @) @ (@) sigw

p.
" 35 T L



i | T & 7“1:51{1
98, E‘ Trﬂ;; = () srmEm,
() &t g, wwa-Frf il S
99, w_mmmﬂﬁ%: Fat

i =
=5

{1_] HE’Q*W MWW (rwmﬁ

(4) FFEE e
—
%ﬁwmﬁwgﬁmﬁ.1m~1D5)%a§ﬂgﬁhafﬂmﬂﬂWW1
wrmijmm%ﬁm% Et.f:_}
5 it 5T < 1 et S RO 10
g@wwmmﬁmm. m
fR e i T forw fo
ol v i fed < 3 A |,
ﬁﬁﬁmﬁtmﬁ%m%l
100. “femmera" = wfy-fasde & -
) ®mrIw (2) fws e T ®ramm @) fore e
101 F 5 o e 7 e o T £ = -
(1) wee (2) wEvEr e L@ﬁ“mﬁ*ﬁ (4) T=TE
102. "SR wgmmT w g
(1) ufzf‘q'rfl {ii;-_-a‘r{ (@) =R
103. 3 29 1 1 fargoey &9 ==~i
(1) 3 oz oy 8 @) MYwhaEzy
(3) = H ama g g

104, =Tor F o5 ) 3 s P A T g

(1) ﬁ%ﬁaﬁfﬁm@fmmm
(2) = ity

@ @I G @A @) @i

w
106, mﬁﬁ%m%ﬁﬂwﬁﬂﬁﬁﬁqﬁ%@mmﬁw% bl
W'—rﬁ?ﬂﬂﬁ%ﬁmﬁwmﬁﬁ'{? 1675
) T 7 et e 35 o e v iy
@) o R i r 4 e 3 o o A L
A ) 53 e s e e 21 Fnere oty
@) ﬂﬁvﬁﬂﬁwmaﬁm
P-1 I "



107, Felt < T HE HYT HE % AR oft T e o o 4 mﬁawﬁm@m@%

e 2 TS o ARty H e Ot €1 9 W 3 TRy R P e 2 \ W oy
(1) @ fem 42y T ()
(3) wEuEl e (4) RIS TR

£
108, ST il et et wfeq e ¥ o L;}
wf aﬁfaﬁwwqﬁﬂmmywﬁ?ﬂu&
(2) = =T % e T s 9
(3) = I STIAE F H1 A HEl ST
(4) TH G F IR s
RO
109. ﬁﬂf&fﬁaﬁﬁﬁﬁq-ﬁwwﬁ;%ﬁ%a@%?
(1) Wﬁﬂ?ﬂ'ﬁﬁ{ﬂﬂ‘lﬁﬁ'ﬂ%ﬁﬂ
2) Wwaﬂxﬁmﬁ?ﬁmmﬁm@im%l
3 o Tzl  Sfewfan S & oW F H AeE Hedl €
(4) 3w ¥ forg e ffaferl 91 2s €|

110. S S T F HATE T | mﬁﬁmﬁﬁfﬁ e F TS OTE A Ve o o €1 3% e o
e sl e 1 v T g A S Ty e €| 5 WA 35 57 e = o
% e ¥ fo Wefed MW E? E

(3) AR | T Chg T W W e

111. wwmﬁﬁmwﬁw@ﬁwmmammwaﬁmmm
Y T Eas

(1) e w2 CIVCED E(S} TIHE :;_(4} Rl Rice

112, S Ta S SO e e € v e |
(1) Tza % weag § e I Sied
27 T RE 4 el
(3) T v F31 =y
(4) SrEfae TE GEE B Al

Ef3
==

£y
E

13, A o S S o Al §
(1) rETEm F fawm (e ) Eﬁ}f SR FHE

114, e AIgET i 2@ A 3 Ry fafyy =) Fadive 82 '
) v (FEwR) (2) wEfm (O @) Rl o (4) F

P-1 (AT 37 D




R — )
ﬁ#qﬁmwﬁéﬂﬁm'%*ﬂmﬁﬁm’%ﬁﬁmmm% T -
e ﬁq?'f:ﬁﬂﬁﬂﬁ’lﬁufﬁl 1 A W R SO v ) " IS Wy
I 2y T (B)  wETTRE Cﬂj{f;} T
o b Ao R T p———— o N
Ilﬁ.gﬁ e i‘?ﬁmmﬁawmm%m
et &TOAT e feifEs ey b
(1) | w6 %Wﬁmmﬁ%&%i
) wﬁmﬁﬁm%mﬂﬁtﬁwﬂﬂ%ﬁ%mﬁ# 1L
L fﬂ% A R |
(3) ﬁmﬁﬁﬂﬁﬁmmfmﬁaﬁmm% L 3
Mwawﬁm%ﬁﬁ%ﬁﬁmwmgﬁ%‘

(2) ST F W W 5 e i
®) whmAdram N s S0
8y TR R e

119. ﬁam%mﬁ%ﬁs‘ww%ﬁmm%—
() o e | Fifa fesmt @ e T
AZ) T R SR TR el 3 i s ey 2
(3) mmmw%mﬁammmmmh

4
() 5wl @R o] 3 e R st e 21

g

120. M &t | Frammerss wiem @ styg =02 N
(1) Terenfie 4 wfs R o & wrewe foe | L)

(2) A SREH % Tou e T W S L)

(@)  errEE-Toers Sgw § sfuve @ giam o o Eﬂﬁ&ﬁg’?ﬂ*q%ﬂn
{yﬁaﬁaﬁmﬁﬁmaﬁaﬁﬁmﬁﬂmmmn

P-U (AU -




PART -V
LANGUAGE - 1| : ENGLISH

-I-h-l-I:ERTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as LANGBAGEII only.
P

e

1ead the passage given below and answer the :E_"; T;iﬂ“s that follow : (121 to 128)

Perhaps the worst of the ordeals was to be shi 1;'1 a darkened room for Iung, uncertain periods, in
litary confinement and complete silence. Gagaririshimself described the experience.

“There was no sound, not even the slightest ristle,. No movement of the air—nothing. [t was
mncanny, unnerving.”

)

He would shut his eyes and imagine himself in  space-cabin in orbit, looking at the world passing
seneath him; or sometimes he would recite half-ranterbered poetry to himself.

Then, came parachute training, Gagarin ndada forty parachute jumps of gradually Increasing
difficulty. _ i

One of the most interesting of the training experiments was the method of providing experience of
weightlessness. In the early stages the express lift of the great Moscow University building was used.
From the twenty-eighth floor to the bottom allowed a ‘drop of 500 feet. At a certain high speed the

passenger would find himself suspended between the floor and ceiling of the lift without support. This
was a convenient and inexpensive way of reproducing ‘zero gravity'.

Special air brakes prevented the lift from crashing as it reached the bottom.

On the morning of April 12, Gagarin rogg™at 5.30. He was zipped into his complicated
space-suit, on top of which went a pale blue fibre s finally an orange one. Then an Air Force bus
drove him to the launching site in company with vaTious helpers. The gantry lift took him up 100 feet,
to the nose of the rocket, and he entered the cabiri{fi@med Vostok) with a wave to those below.

121, One benefit of travelling in the express lift t6 Gagarin was that :
(1) he could come down in less time, (2) —he.did not have to pay for it.
(3) it was very thrilling. \Lg;}"w.__llgnexperim:ed zZero gravity.

122. Study the following statements : nRy !

(@) On April 12, Gagarin woke up at E.D{J;ﬂ:::i

(b) He wore a blue space suit. =
() He travelled in space in Vostok. | @ .,
(1) (a) and (b) are wrong but () is right.

(2) (a) and (b) are right but (c) is wrong,
) (b) and (c) are right but (a) is wrong.
(4)  (2) and (c) are right but (b) is wrong.

123. Gagarin was aan :

(1) Pparatrooper ./ﬁ @Hﬂe traveller

(3) adventure tourist (4) Ei__ﬁl‘g"&icist at Moscow University
12, -, i luﬁking at the world Passi.ng beneath hf}:ﬁﬁ
The underlined word isa/an .. Q‘a:! .
conjunction ~ (2) article _(3) preposition 4" adverb
125' Study the following statements : . <
) In his private life Gagarin was a poet. .
) I the experimental darkroom there M%D air, )
Both (a) and (b) are right. (2) Lu(a) is right and (b) is wrong,

®) (b) is right and (a) is WIONg: (4) Both (a) and (b) are wrong,

P.
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d the cabin’

; { he entere@ 0 2=== clause, = _
126. " .- Fﬂm—ﬁ afan .}._J Adjective (4) Adverb
The under (2) Noun L]
Coordinate K 160m. ¢ = 5
-w/ . was shut up in a wat .n ; ) ‘1}. T hment
127, Cagm " feel like in a space cabin %) 3 punishme
1] to feel el (4) @5 an experiment
(@) tomedi , %l
. i iveway ., = =
: venient and inexpensiv 8 o~
128, ..-8 % nearest in meaning to the uhéeﬁined one.
Choose the (2) contrite
ay crackm5_

@B:g cordial (4) hand:,r
iven below and answer the qu@_fims that follow <
o ]Ell; lf:s;:gtzﬂ in the mid-1970s was a laid-ba

(129 to 135)
ck place, resembling a remote rural area, except iy,
there waq 3
every year during the harvest season. The village deity
hipped by many from the places in the Vicinity, _
o wgzutigs t}?ongedythe fair not only for divine blessings but also for watching street-shows angd
other entertainment events. Only a mud track Jed to the village and everyone reached there '
or on bullock carts, :
My father, an advocate by profession,

was popular among the villagers. His clients frFrm the place
used to arrange bullock carts for us and g few famif_ lends and relatives to attend the fair.
- The journey would start early in the morning:, We children will be in a separate cart, T used
eagerly look forward to this occasion Every year as.theugh it was a journey of a life-time and worth
| enjoying every minute of it Money saved for this fair would be tucked firmly in my pockets during the
journey. Whenever the cart jerked or sped away, [ @d hold my pockets tigh
not spill out. %

tly so that coins would
W

ple in the foothill used td B highly unorganised, especially the food counter
served. Hot and spicy puffed ric

Iee and tea made of Jaggery were the delectabls
and beverage every devotee criﬁ'q-fm.

Going to the temple used to be the last priorifyd

hurriedly finish the formality of darshan. -

us children, Fearing elders’ wrath, we would
« . 129. Study the folI

Owing statements -
(@)  Children were given enough Pocket money on the fair day.V
(b)  Small children would travel with their parents in a separate cart../
(€)  Well-to-do villagers liked tq oblige the writer's father
« (1) (@) and (b) are wrong but (c) is right
) (2) and (b) are right but (c) is wrong,
(b) and (c) are right but (a) is wrong,
%) (@) and (¢) are right by (b) s wrong, ¢
130. Which one of the following statements is not fife.
1) Prasaq distributed theye w
w2 People visied the ty

£3

the fair only ED? ity ma:ketﬁe
ibution was quite chaotic, L]
. 131. Which one of the fcjllnwing statements ig trye 3.4 3
(1) People vigiteq b ho

me town for religiousééhsons algo,
The narrator's home town was in a re ;
(3) Life was

mottarea,
comfortable in all respects, | A=
(4) It was known for an annual fair,

P4 IR % *’




32. The devotees thronged the fair,

Choose the option which is nearest

: N meaning to the underlined word.
(1) appreciated (2} attackeq ?3,} visited E A4y crowded
33. ‘Tused to eagerly look forwarg | k £
Wi

Choose the word opposite in megn

e ing to the unanm_'lfl':i'ned one. |
(1) indifferently (2) 11earti1}: -fs‘j':_ ?ﬁneasﬂ}r (4) easily
34. Study the following statements - T‘E_f'

(a) The writer would be very carefy] while traveﬂing in the cart.

(b) Inspite of the jerks and jolts, the journey wasnijoyable.

(1) Both (a) and (b) are wrong. (a)fis fight and (b) is wrong.

(3) (b)is right and (a) is wrong, (4) BDQFF@} and (b) are right.
135. ‘Only a mud track led to the village’,

The underlined word is a/an

(1) Adverb (2) Noun (3) Pronoun 47 Adjective

136. At primary level a teacher generally motivates learners for colouring and drawing as it helps in :
(1) relaxing the teacher from teaching,
(2) engaging learners to maintain silence in the £Tass,

'/;aa" developing fine motor skills. - -
(4) entertaining learners.

|
[T}

I

%
ot

520

137. The statements that describe the knowledge, skills,

I, 3nd attitudes that students should acquire by
the end of a particular class or course come under.

—t
M foundational literacy outcomes. (2) teaching outcomes
(3) learning outcomes (4) nugle;‘ﬁacy outcomes
138. A teacher promotes group discussion and peer i%ﬂ-@%cﬁnn in her classroom. She does not bother -

to cgrrect spelling or pronunciation errors. She 1 Tsing ____approach in her classroom.
Constructivist (2) Traditional (3) Eclectic  (4) Structural

139. To teach tense in your class you use two pictures of the same person - one picture taken 15 years
~ ago and another just clicked. You initiflte_ a talk in the class about his present and past - his
appearance, his habits. Now, you are using :
(1) Rule based Grammar (2r” Prescriptive Grammar
@)  Structural Grammar (4) Pe _éggt_::gical Grammar

40, wn.: : Plan on the topic ‘Pol 1:1 " what will be younr first step ?
Whlla;::::;ﬂa:;}g ;ﬁ[;iisﬂn {EELQ’ZEP“TE mtmducl:cry questions
) Go through the topics many times (4} jem AN pide

141 When Ianguage is Tearnt naturally and without ﬂs}rst&maﬂe practice, it is called :

(1) Learni (2) Erudition A3 ﬁcquisiﬁnn (4)  Acceptance
earning
192, . : ively whep they have
Qhﬂdrm 193,: a language most effechw(?z,} z E:B%Ci““t language teacher
motivation . e i |
- gﬂ:; t‘;’x - (4) inhibition

P. 1
| LT 4



143. Linguistic competence Enablef. iﬁam&rﬁ - S
(1) use more and more Binglish |
2)  differentiate grﬂmmﬁﬁ'?ﬂ“}' correct and incorrect sen iices
.,fﬁ] speak fluently even if not grammatically correct
‘ o . o use the langua -
(4)  know how and when {0 g %&jPrﬂPﬂﬂtely

144. A teacher brings real-life objects like umbrellaﬁfaj_‘félcm[, Screwdriver etc to her class, She a4

I . ; ; ks
learners to describe the objects in two to lhrequgmenccs. The materialslthat the teacher bﬁng:}ilﬁ
the class is technically called . i .
A Reali (2) Language input
(3) Teaching instruments 4) e
145. Today Raju is very happy as he ils going to schdal. He is the first from his family to come to schoy
None in his family, not even his parents, ha{’iﬁr been enrolled in any school. Raju is thy .
learner. bl :
(1) Minority A7) | First generation
(3) Second generation (4)  Marginalized

146. One of the important featuresof ___ is that the learners solve problems collectively-eig,
In a pair or in a group.

(1) structural approach

(2) communicative language teaching
(3 behaviourist approach . i
(4)  whole language approach _

A teacher asks her learners to write a parag‘g on ‘water’. Then the learners start discuss
what they have been taught in science and octal science classes. Then they begin to writ
paragraph on water. This is an example of :5.£ 3 i} .

(1) Communicative approach (2) HUidguage in use

(3) Language of science _W  {Tanguage across curriculum

You s a teacher find that the language used in the lesson is very difficult for your learners. !
simplify the language and also make certain changes in the content to suit your learners.

you have done is called . \
(1) Review

20

1

147.

148.

(2) Adopting 2 Adaptatiun (4)
149,

E-:}: E::m bor and brought up in a villape w%ﬁ;ﬁ?ﬂ?‘ﬂﬂd}' spoke Hindi and you too began
smsknﬁg.e “:'lﬂ'lﬂut Emng lo an}" thﬂlﬂl. 3 WhE'["[ you went to school you S‘T.'udled i
Ianguag:g : indi and Urdy. Now, you speaﬁgglish very fluently, Now which is you!

Evaluation

(1)  Sanskrit

150,

T=
(2) English Ay Hiindi (4) Urdu
When you go to ¢

e each, you find that the textbbokbegins with rhymes and picture stories and®
El)ﬁl the alphabet, Whic, approach does thistidin : 4 E

|
A of arrangement suggest in language pedt
3 - eothetic approach 42r IHoftom up approach
{ ] rup dﬂwn appruach

(#)  @E¥lectic approach
2T ks



